
08-06-2025

Arc Folding Rigidizer Bar 

Item Number Part Number Description Quantity

1-7, 8a, 9-18 113504 Folding Rigidizer Bar Assembly with Clamp, 10-
12" Wide, Arc 1

1-7, 8b, 9-18 113505 Folding Rigidizer Bar Assembly with Clamp, 12-
14" Wide, Arc 1

1-7, 8c, 9-18 113506 Folding Rigidizer Bar Assembly with Clamp, 14-
16" Wide, Arc 1

1-7, 8d, 9-18 113507 Folding Rigidizer Bar Assembly with Clamp, 16-
18" Wide, Arc 1



08-06-2025

Item Number Part Number Description Quantity
2-7, 8a, 10, 12-
14, 16-18 113508 Folding Rigidizer Bar Assembly, 10-12" Wide, Arc 1

2-7, 8b, 10, 12-
14, 16-18 113509 Folding Rigidizer Bar Assembly, 12-14" Wide, Arc 1

2-7, 8c, 10, 12-
14, 16-18 113510 Folding Rigidizer Bar Assembly, 14-16" Wide, Arc 1

2-7, 8d, 10, 12-
14, 16-18 113511 Folding Rigidizer Bar Assembly, 16-18" Wide, Arc 1

1, 9, 11, 15 113512 Folding Rigidizer Bar Clamp with Hardware, One
Side, Arc 1

2, 5-7, 10, 12,
14, 16-18 113513 Folding Rigidizer Bar Hardware Kit, Arc 1

1 111589 Clamp, Mount, Accessory 2

2 111577 Barrel, Mount, Stabilizer Bar 2

3 111579 Latch, Stabilizer Bar 1

4 111578 Pivot, Stabilizer Bar 1

5 111586 Knob, Knurled, M6 1

6 111587 Spacer, Pivot, Stabilizer Bar 1

7 111588 Clevis, Latch, Stabilizer Bar 1

8a 111580 Cross Tube Folding Rigidizer, Stabilizer Bar, 10-
12W 1

8b 111581 Cross Tube Folding Rigidizer, Stabilizer Bar, 12-
14W 1

8c 111582 Cross Tube Folding Rigidizer, Stabilizer Bar, 14-
16W 1

8d 111583 Cross Tube Folding Rigidizer, Stabilizer Bar, 16-
18W 1

9 003810 Washer, Spher, 10Mm 8

10 100670 M6 x 45 BTN SHCS BLK ZC 1

11 101811 M6 x 35 BHCS Blk Zn 4

12 101593 M6 x 25 BTN SHCS BLKZC 1

13 101708 M6 x 14 BTN SHCS BLKZC w/Patch 2

14 101456 M6 Ovl Top L/N ZC 2

15 100658 M6 Nylock Nut Blk Zn 4

16 102629 Seastrom 5610-69-062 Washer Nylon Black 2

17 101853 M6 Washer Blk Zn 1

18 102810 M6 Lockwasher, Hi-Collar, ZC 2


